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SOCIOLOGY
( General )
Course : 201
( Society in India )

- Full Marks : 80
Pass Marks : 32/24

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. ©7e PR ve Teth R thie 1x8=8

Choose the correct answer from the
following :

(@) TASIOW ST G6] (AN T

One characteristic of tribal society is
(i) @R / dormitory

(i) Eﬁﬂ@ / complexity

(i) Re®FaT / specialization
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(2)

(b) Social Problems in India J®% fBi4F 2°A

The author of the book, Social Problems
in India is

() B

Srinivas

(i) I
Ram Ahuja
(iii) renfam

Kapadia

(c). ‘Caste’ *Riol WfiR

The word ‘caste’ originates from

(i) TSN ¥ o
Portuguese word..

(i) o7 *R7 o=
Latin word

(i) S°RI OIS T
None of the above
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(3) ‘

(d) FTFEIIT SRYANCHT LA II2A FRREA

The word ‘Sanskritization’ was first
introduced by

fi} drenfim
Kapadia

(i) T
Srinivas

(i) R

Risley

(e} Social Change in Modern India «N<
SR e T4

The author of the book, Social Chdnge in
Modern India is

(i <refea
Kapadia

(i) IR =™
Ram Ahuja

fiii) D=

Srinivas
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' (4)

(N By ol o Rz e uw ‘
According to Hindu religion, marriage
is a
i) <" IR
religious sacrament
(i) ST pRs

social contract

(iti) 9T qore =W

None of the above

(g) et &y am e

The religious book of Buddhist religion
is

() fatve
Tripitaka

i) SRA
Anga

(i)
Veda
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(5)

() B ol TS Qe g4= 7T TF

According to Hindu religion, the main
aim of life is
i «f
Dharma
(i) o
Artha
(i) %
Moksha

2. o R oAl TIfREA 57 R vt (a1 150 1
o) : 4x4=16
Write short notes on any four of the following
(within 150 words each) :

(a) SASTON A&
Tribal Society

(b) g ARIERE W
Problems of Modern Family

(c wSI"H
Caste System
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(d)

(e)

(6)

wiRge!
Poverty

STAMEIT
Industrialization

3. o’ R A oikit o B fow (aRS1 500 *r
foso) :

Answer any four questions from the following
(within 500 words each) :

(a)

(b)

()
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5 e 3P R @2 TRV SR gym
CMBPTR ST 41 | 4+10=14

What do you mean by urban society?
Discuss the main characteristics of
urban society.

P R e B @2 P Raer 2em
S 34 | 4+10=14

What do you understand by joint
family? Discuss the main
characteristics of joint family.

‘T W W RS oW b
SR 1 SIS 79 | 14

“Caste system is one example of closed
type of social stratification.” Discuss.
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(7).

RS @F SRS P 17 SR F 4 14

“Corruption is a social problem.”
Discuss.

wyfdies P B @ oROW TR
AR 2 o S 9 | 14

What do you understand by
modernization? Discuss the process of
modernization of Indian society.
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